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Solution of Triangle

SOLUTION OF TRIANGLE
1.  ,  ABC  A(–1, 7),

B(–7, 1)  C(5, –5) , 

 :

(1) (3, –3) (2) 
3 3

,
5 5

(3) (–3, 3) (4) 
3 3

,
5 5
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Solution of Triangle

SOLUTION

1. Official Ans. by NTA (3)
Sol. Let orthocentre is H(x0, y0)

B C

H

A(–1, 7)

(–7, 1) (5, –5)

(x ,  y )0 0

mAH.mBC = –1

 
0

0

y 7 1 5
1

x 1 7 5

 2x0 – y0 + 9 = 0

........ (1)

and mBH.mAC = –1

 
0

0

y 1 7 ( 5)
1

x 7 1 5

 x0 – 2y0 + 9 = 0 ........ (2)

Solving equation (1) and (2) we get

(x0, y0)  (–3, 3)


